


O B, 2, =l 24t =418

O EfQ! 7t E48t 05|




CsEzieEEi@wA¥EE 000000000
3.1 =% AA ==k

O O|=72| sH
O quarter = 25-cent
© dimes = 10-cent
2 nickels = 5-cent
' pennies = 1-cent

O el 0j| Al= 0| CIHO | Altkst7 | SE&sh.
O 9 quarters, 2 dimes, no nickels, and 6 pennies
(9%25)+(2x10)+(0x5)+(6x1) = 251 cents = $2.51
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=M™ A =2 24: Coins.java

/** Coins - 9 quarters, 2 dimes, no nickels, and 6
pennies & 7HX[1 RUS ©f B MESF 7iX|1 UK ALl F= Z=2E

*/

public class Coins
{ public static void main(String[] args)
{ System.out.println("For 9 quarters, 2 dimes,
no nickels, and 6 pennies,");
System.out.print("the total is ");
System.out.println( (9 * 25) + (2 * 10)
+ (0 *5) + (6 *1));
} *0| Z3517|

}

For 9 quarters, 2 dimes, no nickels, and 6 pennies,
the total is 251
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3.2 penny &% 7lia=7} HFH?

/** Coins - 9 quarters, 2 dimes, no nickels, and 6
pennies & 7HX[1 RUS ©f B MESF 7iX|1 UK ALl F= Z=2E

*/

public class Coins
{ public static void main(String[] args)
{ System.out.println("For 9 quarters, 2 dimes,
no nickels, and |6|pennies,");
System.out.print("the total is ");
System.out.println( (9 * 25) + (2 * 10)
+ (0 *5) + (6)* 1) );
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}

For 9 quarters, 2 dimes, no nickels, and 6 pennies,
the total is 251




O Y=R}, 2%

O o, quarters, QUArTers, 0123, my quarter

_, $= 2EaM A 7ts, H, A= AR S

O Java 7|9 E= A8 24X[: public, class S

O tHz= [0} =7 |5f
O 1nt quarters = 5;
O Ha AL

O System.out.println(quarters * 25);
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/** CoinsVariables - Ul 7He| ¥1+E quarter, dimes, nickels, penniesS
F W 7K UK HelsiA A */

public class CoinsVariables
{ public static void main(String[] args)

{ int quarters = 9;
int dimes = 2;
int nickels = 0;
int pennies = 6;
System.out.println("For these quantities of coins:");
System.out.print("Quarters = "); System.out.println(quarters);
System.out.print("Dimes = "); System.out.println(dimes);
System.out.print("Nickels = "); System.out.println(nickels);
System.out.print("Pennies = "); System.out.println(pennies);

System.out.print("The total is ");
System.out.println((gquarters*25)+(dimes*10)

+(nickels*5)+(pennies*1l) );
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For these quantities of coins:
Quarters = 9
Dimes = 2
Nickels = 0
Pennies = 6

The total is 251
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& | OlC} System.out.print £ print1n=S S=6H0F ot|7}

O System.out.print(x); System.out.print(y);
System.out.print(x+y); E A £7| 7S5l

O System.out.print(x); System.out.println(y); &
System.out.println(x+y); 2 %A 27| 75l

O £ 71 O| &= 7ISSIL.

O H 42t dE = 2B = Ro[sl2},

A== |
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/** CoinsVariables - Ul 7HQ| ¥i+Z2 quarter, dimes, nickels, penniesES
F W 7K UK HelsiA A */

public class CoinsVariables
{ public static void main(String[] args)
{ int quarters = 9;
int dimes = 2;

int nickels 0;

int pennies = 6;

System.out.println("For these quantities of coins:");
System.out.println("Quarters = " + quarters);
System.out.println("Dimes = " + dimes);
System.out.println("Nickels = " + nickels);
System.out.println("Pennies = " + pennies);

System.out.println("The total is " +
((quarters*25)+(dimes*10)
+(nickels*5)+(pennies*1)));
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O 251 ME7} OfL|2} $2.512 H 7|5l F!

O 2lE
2 251/100=2

0 251%100 =51
3= 2510IM mod, 55, LIIX|S = SiAtxto|Ct
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/** TotalVariablesDollar - quarters, dimes, nickels, pennies 7l
7t FOIX|H HORIX| 2 ALt T2 +/

public class TotalVariablesDollar
{ public static void main(String[] args)

{
System.out.print("The total is ");
int total = (quarters * 25) + (dimes * 10)

+ (nickels * 5) + (pennies * 1);

System.out.print("The total is $");
System.out.print(total / 100);
System.out.print(".");
System.out.println(total % 100);

}
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Hap AL X7 |9

O BT AR RV |etElCt= A2, H|22(0f “ME A &
(cell)’0] 47111 =7 =} £X0] 1 Z0f| MEEICl= Z0|C},

4 )
main
{ int quarters =9
int dimes =2
int nickels =0
int pennies =6
k} 4
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int money = 100;
System.out.println(money);
money = 0;

\?ystem.out.println(money);

A

-
int money = 100;

System.out.println(money) ;
money = money + 50;

\?ystem.out.println(money);

/




CsEzieZElmyAYeE 0000000000000
Lt= A AL 25|

O ;3 22| 46 MIES 7| 8l SHOR,
O &4:

O quarters =13

O dimes =2

O nickels =0

O pennies = 1

O O{EAH| AHAFSEX]?
O 3.46 - (13x0.25) = 0.21
5 0.21 - (2x0.10) = 0.01
5 0.01 - (0x0.05) = 0.01
5 0.01 - (1x0.01) =0.00
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O A&t 2ME money2td! SHX

O moneyEL} 2 E|l= Z=|C] quarter =
=S moneyOl|M i1 quarter =5 S24sIC}

O money=Ct 27| £li= Z[ch dime +&
= moneyOl|Af 11 dime 45 S2{BICH,

O money= Lt &7 &= Z[CH nickel =5 7A[AFSHC ST 2
HS moneyOl|A] i1 nickel =5 S SICL

O Y2 money” penny2| =0|C}.
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/** MakeChange- dollars2 cents’t FOX|H 0|0 sYst= S™ =8 HlList
Ck, =/

public class MakeChange
{ public static void main(String[] args)
{ int dollars = 3;

int cents = 46;

int money = (dollars * 100) + cents;
System.out.println("quarters = " + (money / 25));
money = money % 25;

System.out.println("dimes = " + (money / 10));

money = money % 10;
System.out.println("nickels
money = money % 5;
System.out.println("pennies

+ (money / 5));

+ money) ;




XE= 7:||A |3H |-I-I
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/ .
main
{ int dollars = 3
int cents = 46
int money = 346
System.out.println("quarters = " + (money / 25));
money = money % 25;
System.out.println("dimes = " + (money / 10));
money = money % 10;
.}
main
{ int dollars = 3
int cents = 46
int money = 21
System.out.println("quarters = " + (money / 25));
money = money % 25;

System.out.println("dimes =
money

.}

= money

3

10;

" + (money / 10));
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money money

O money 2| 4= =0

O 25& L= LIMX|ZE FLeiCt
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O 7|Z0| UH ZF2 ARRFEICE
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0 int dollars;
O dollarsE {|st Aot MMSICT,

O XM& (=7[=h
2 dollars = 3;
O 32 dollars Al0]| M&SICE,
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3.3 2| A4 Doubles

O 2k Het T2 TS THSAL

L

O AAt SA:f=(9/5)c +32
O ce M 2
O f =3 2
O c=220|Hf=71.6

O FE|+E Javaz?
O REle= JavallM 7|22 = K| IsHK| =L
O CHA A2 double2 AtEE £ QUCH
O M4 2EHAM M 20]1.2,-2.1,0.33 SOZ EI(GHL

O FFUMKEE +, -, %, 1 S 8 20| AZetT.
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/** CelsiusToFahrenheit0 - tIM|E SINZE HEF */

public class CelsiusToFahrenheit0
{ public static void main(String[] args)

{ int ¢ = 22; // the degrees Celsisus
double £ = ((9.0/5.0) * ¢c) + 32;

System.out.println("For Celsius degrees "+ ¢ + ",");
System.out.println('Degrees Fahrenheit = " + f);

\ SAIS EfEst

For Celsius degrees 22,
Degrees Fahrenheit = 71.6




GhnEEwteS 0 0 0 290 020 200
Mot A40| EfR) HEt (Type Cast)

O O|A| &7t?
O int 1 = 1;
O double d = i; SAIX E #8t (implicit type casting)

O OfAH| Ent?
D double d = 1.5;
O int 1 = d;

O /0] A2 =|10 Of2l 242 QHEICE O H| A Z=0{0F St
O double d = 1.5;
O int 1 = (int)d; YAM EIY B2k (explicit type casting)
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/** Geometry - 2| HEZ HEf= HASII| */

public class Geometry
{ public static void main(String[] args)
{ int radius = 7;
int area;
area = (int)(3.14 * radius * radius);

System.out.println(area);
A S| EFQJEEH
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3.4 =2|4} (Boolean Value)

O Z(true)/HX(false)= LIEHH= 4k
O boolean b = false;
O H|u ALK} Ha) A= D5 H|W 7}S0|C}

O F9|, £o7|20f|A H| W= = O[X|2F JavatiM= ME=1L 255 LioH|

-rl6 ==
O s, z, 2= ARt 7|22 B
O =2 ALK}
DAYV, TE &S, ||, 12

O 0 x<y && !(y >= 20)
%  sowjsa ERICA HEEZs
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3.5 ALK} LM +=2| (Operator Precedence)

O 1*2+3
O (1*2)+3 771, OfL|™ 1%(2+3) &77}7?

O EZSE 97| Qs RMEQIE BodsIict

CHs} O1AR} - | =0
Zo17| « Lit7| / LIDIK &

=S| + 7| -

dlul < <= > >=

=7 &s || =Lt




Xl (Associativity)

O 1-2-3

O (1-2)-3 &7, OfL|™ 1-(2-3) &7}?

Sf ALY,

~AS 507

FA
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3.6 =AI'E (String)

O XSO LI

O 2XE2 e, &, =eliidte 2| “AXP0]Ct.

1y = 1|

O java.lang Of| class String H2|=| QIS
) String name = “Gildong Hong";

O =AtE =0|7] (concatenation)

O System.out.println("My name 1s

+ name);

D System.out.println("My name is R2D" + (5-3));
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O Sl.equals(S2), Sl.compareTo(S2)
O S.length()

O S.charAt(E), Sl.indexOf(S2,1i)

O S.substring(E1,E2)

O S.toUpperCase(), S.toLowerCase()
O S.trim
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public class StringDemo {
public static void main(String[] args) {

String slogan_eng = "Freedom is not free";
System.out.println(slogan_eng);
System.out.println(slogan_eng.toUpperCase());
System.out.println(slogan_eng.charAt(5));
System.out.println(slogan_eng.substring(4,6));
System.out.println(slogan_eng.index0f('o"));
System.out.println(slogan_eng.index0f('o0',6));
System.out.println("a".compareTo("d"));

¥

Freedom 1s not free
FREEDOM IS NOT FREE
0

do

5
12
-3
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=X} (Characters)

O et EX}frar ‘b’ ‘07 ‘&’
O EJI\ EX-:l\bl l\tl l\nl l\rl l\lll l\ll l\\l

O ZHEXHs HEEOIM S 2X10f HSEIC

O Java?l 42 SLIZE(Unicode) BHEH0| 2} CHSA|ZICY
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O ot 2| ZFE EIY (data type) O|2} SHCT

O Javae= 5 7HK| CiE ZHE|12] Q] EfIo] RJACE.
O 7|2 EfY (primitive type): int, double, boolean, char
O &E Bt (reference type) EE= ZHA| EFR (object type): String,

GregorianCalendar
O Java= Y45| EIQS ZeiCT. 24f?
O Olafet Mt E7h1 + 2. 3( ), “abc” * 2.3 (X)
O M ANos Vts: 1 * 2.3 = #X| =2t double 410|X]
O 4 Mol el/0|E E0|: double 220 X&' 4= Q1 double 242 7HX[X]
O D27 QF £ AS: T2 IU0| B RME|H EIQIRE E2l 7HsM =2
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boolean b = true;

System.out.println(b * 5); // data type error
int 1 =3 * 2.1; // data type error
int x;

x = "abc"; // data type error

GregorianCalendar ¢ = new GregorianCalendar();

System.out.println(c.getTime());

c.println("oops"); // data type error

Bt @F7t U= Z=1H2 FEE2| 52 BUtEe| 7/t &0t HCT



((-3 % i)+ d4d) >2

it nt nt
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it

daub\le yuble

double

double double
~ e

boolean




O SME M= HH = ZE2 2SS ArdotAL
O O[H0]|= ASX0[A| == BHOrA SHEXL,




O OEA|?

O HHON =0f[M: java CelsiusToFahrenheit 20

O Eclipse®lM: Run configuration > Arguments > Program
arguments

22 Run configuration > Arguments > Program arguments
Ol2ff variables.. > string prompt =2|. Run AA| ELZ0
gl QX YIS

— =1 O e

O Z=218H0| A|RME|H args[0], args[1], ..., args [n]0l| =7t HEE|
Of RALC.
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/** LengthOfName - &S| ZO0|E =¥

o

Ct, %/

public class LengthOfName
{ public static void main(String[] args)

{ String name = args[0]; // args[0]0l 27} XEE|O QULCt.
int length = name.length();
System.out.println(“The name, “ + name +

“, has length “ + length);

> java LengthOfName “HONG Gildong”
The name, HONG Gildong, has length 12

> java LengthOfName HONG Gildong
The name, HONG, has length 4 args[l] = “Gildong”




O Cla== EXAIHO|LCY

O 202 7= "4=200]| OfL|12 2Xt& «2070|LC}.

O B #2072 F4E HITE i

O 1nt ¢ = Integer.parselInt(“20");

O A 2oz

) double ¢ = Double.parseDouble(“3.14");

O java.lang I|7|X[0f| Integer®?} Double S2HA7} UL,



SSESESRREARRE
At 0|88 2K 7]

System.out.println(100.0/3.0);

>
33.33333333333336
\

O O|BEA| ®l= = 33,330|2t0 2= HH0| QiS7t?

D java.text.DecimalFormat= AEd)!



CsEziez=luyA¥wE 0000000000000
DecimalFormat

O DecimalFormat ZHA| RFS7|
O new DecimalFormat (<UE>)
O <ES2 OfF HYOZ o X[ X =2 2AIE

O 0O, “0.00" =z 21220| stX2|, @REZES X2

O O|X| O] ZHX|0| format HIAEE S8l /=2 HEUMH EXPS &
L},

) DecimalFormat f = new DecimalFormat(“0.00");
D String s = f.format(100.0/3.0);



Q- H{5} = J2H QFM

-

-
import java.text.*

/** CelsiusToFahrenheitl = ZZ21™ Qlx=Z HMN2EE H0} SM2EZ HfE

O ==l =0k */

public class CelsiusToFahrenheitl {
public static void main(String[] args)

{
int ¢ = Integer.parseInt(args[0]);
// args[0]7} Z21& Ol
double £ = ((9.0/5.0)*c) + 32;

System.out.println("For Celsius degrees " + c + ",");

DecimalFormat formatter = new DecimalFormat(“0.0");

System.out.println("Degrees Fahrenheit = " +
formatter.format(f));
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O =8 27
O EQFO| OfAtSt =2 ek
e 0], Ssystem.out.println ( (1+2(*3 );
O AuLe|7t &of =L

O EIl @F
O Ergio| BtX| = =1k
e 0 System.out.println(3 + true);
O A7 & =L,
O Ha= MOI0| BHX| Qh= AT EfY AAF S0 &OF &L
e 0], System.out.println(a); // a X2 Q0] A=
e 0] int a=1; double a=2.5; // Hy 2 MA

System.out.println(a);



O 0, 022 Lis7|
i/x // x=0
O 0, Het 2=

Integer.parselnt(“abc”)

O Javas AlSA|ZE =7} ST 01| 2] (exception)S EHAYA|F |THA] LAY A
EOI-E;le—_l_

java.lang.NumberFormatException: abc
at java.lang.Integer.parselnt(Integer.java)
at java.lang.Integer.<init>(Integer.java)
at Test.main(Test.java:4)
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int x=3;

int y=7;

System.out.println(x=y);
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